TIG:

9,17.18.20,24.24W, 25,26,450W, 12

1531124 Modular Torch:TSA17.20.26

X248 TIG Wire-Feeding Torch:9,17.18.20.26.

M/ $E5941% 4241 TIG COLD WIRE LASER WIRE FEEDER
/i€ MICRO TIG

1B FARIE %28 UNIVERSAL QUICK CONVERTOR




@ TIG9
BACK CAP
HRIRIN A
ek
INSULATOR -, TORCH BODY
FEfRK
COLLET oo . 3
/ FEAR R RE
COLLET BODY s, (TR
- HANDLE SUPPORT
B’j’m ""‘l]% 10

%3 =% GAS COOLED
o) E7E35% £ % Duty35%DC:110 Amp
5 35 0sETE Duty35%AC:95 Amp
.EE,WR__]'EIectrode Size:0.5-1.6 WIRE

AEACFFX SWITCH
® EJFX Single
WFF % Double
PO9FF 3% Four
FE[EE Poti

CERAMIC CUP -,

BLIT %=
Consumables procurement code

(7 “o” AFRERLE / With“ @ is the standard configuration)
Position Code Ref. Description Position Code Ref. Description

=2 N = 1.1 MGS0061 13N12 GR8 ®12.5 51 MGUO0008-05 13N20 ®0.5
E*ﬁ-l']—)n‘qgﬁ? 1.2 MGS0062 13N13 GR10 ¢16m|r’:m 5.2 MGUO0008-10  13N21 q>1.or:1nn11
1.3 MGS0065 13N11 GR7 ®11 5.3 MGU0008-12 701.0254 1.2
Procurement COde 1.4 MGS0067 13N08 GR4 ¢6.4mmnr1n 5.4 MGUO0008-16 13N22 ¢1.6nTr:1
15 MGS0068 13N09 GR5 ®8mm 5.5 MGUO0008-20 70066WT  ®2.0mm
AOT1124-101  4M  12i6/TIGY/8FF&/—k/165F 5/ {5 FHR/M12+1 17 MGSO041 rebrri GRiL Geemm 87 MGUO00S.32  1oNoe  oasmm
AOT1128-101  8M  12i6/TIGY/&FF/—h/ 165 /(5 FR/M12-1 15 MGS0043 7o6r7s GRel casmm 62 MGUO03IA0  iawail 1o
- I=Fay = =y - 7 Z * 1.10 MGS0045 796F70 GR3L ®4 6.3 MGUO0033-16  13N22L  ®1.6
AOT2124 101 4M l:':*B/TIGgF/%FEE/ 1Z|K/l6$7’j_/17’j'ﬁ/$7fﬁ/|\/|12 1 21 MGS0020 57N75 GR6 ¢9.r:51nTm 6.4 MGUO0033-20 13N23L cbz.omm
AOT2128-101 8M 1246/ TIGOF/BaFF/—K/ 163 5 /{F e FiR/M12*1 2.2 MGS0026 57N74 GR8 ®16mm 6.5 MGU0033-24  13N23ML  ®2.4mm
N . . . 2.3 MGS0027 53N88 GR10 ®12.5mm 6.6 MGUO0033-32  13N24L  ®3.2mm
AOT3124-101 AM  12#6/TIGOV/EAFFX/—K/ 163275 /BT FR/M12*1 2.4 MGS0028 53N87 GR12 ®19.5mm o7  MGZ0004 WP-9
. . > 2.5 MGS0029 53N89 GR15 ®12.5 8 MGKO0079 53N66
AOT3128-101 8M 16/ TIGOV/EFF 3 /—iA/ 1675 /{5 FAHE/M12* 1 ©31 MGF0008-05 13N25  o6mm  ©9.4  MHJO08 Long
AOT4124-101 AM  1Zi6/TIGOVF/BATFF 3/ — i/ 16575 /(R F/M 121 N oL L L SRR L K a4 | S, L
- WE A sy N A 3.4 MGF0008-16  13N27 2.0 10 AGZ0004-00
AOT4128-101 8M  1R46/TIGOVF/EFF ./ —i4/ 1675 /{5R,FHR/M12*1 ey Ry 2R
3.6 MGF0008-24  13n28 ®3.2
3.7 MGF0008-32  13Nn29 ¢4.o$$
41 MGF0060-10 45V0204S ®1.0mm
4.2 MGF0060-16 45V116S 1.6
v (€@ 43 MGF0060-24  45v64s  ©2.4mm
e 4.4 MGF0060-32 9957955 ®3.2mm

MADE IN CHINA




@ TIG17

ek
. TORCH BODY
HasS IR
INSULATOR -+,
BBtk
COLLET -eeeeme .
BRI EE
COLLET BODY -wweeee - / {ARZFHREH
, HANDLE SUPPORT
M -
CERAMIC CUP -
%0538 GAS COOLED
DC
e B35 %0 2R Duty35%DC:140 Am . -
. i35V Y357 P LT MRS

8 S35 % E R Duty35%AC:125 Amp
.EEWR—JElectrode Size:0.5-2.4 WIRE

AEACFFE SWITCH
® EJFxk Single
WFFX Double
POFF>% Four
FEAI2E Poti

Consumables procurement code /

- u ”

(&

FFREBLE / With® @ ”is the standard configuration)
Position Code Ref. Description Position Code Ref. Description

MGS0007 10N50 GR4 ®6.5mm MGFO0001-05 45v29 $0.5mm
MGS0008 10N49 GR5 ®8mm MGF0001-10 45v24 ®1.0mm
MGS0009 10N48 GR6 ®9.5mm MGF0001-16 45v25 ®1.6mm
MGS0005 10N47 GR7 ®11mm MGF0001-20 70060WT ®2.0mm
MGS0001 10N46 GR8 ®12.5mm MGF0001-24 45v26 ®2.4mm
MGS0002 10N45 GR10 ®16mm MGF0001-32 45v27 ®3.2mm
MGS0003 10N44 GR12 ®19.5mm MGF0001-40 45v28 ®4.0mm
MGS0020 57N75 GR6 ®9.5mm MGF0086-10 TE0031-10 ®1.0mm
MGS0027 53N88 GR10 ®12.5mm MGF0086-16 TE0031-10 ®1.6mm

BN T NE 2 2 MGS0026 57N74 GR8 ®16mm MGF0086-20 TE0031-10 ®2.0mm
IE*ﬁ:ﬂ-)\,lﬁ? MGS0028 53N87 GR12 ®19.5mm MGF0086-24 TE0031-10 ®2.4mm
Procurement code MGSO0086 54N18 GR4 ®6.5mm MGF0086-32 TE0031-10 ®3.2mm

MGS0087 54N17 GR5 ®8mm
MGS0088 54N16 GR6 ®9.5mm
MGS0089 54N15 GR7 ®11mm
MGS0085 54N14 GR8 ®12.5mm
MGS0082 54N19 GR12 ®19.5mm °
MGS0720 TC0270 GR6 ®6mm
MGS0721 TC0271 GR8 ®8mm
MGS0722 TC0272 GR10 ®10mm
MGS0723 TC0273 GR11 ®11mm
MGS0724 TC0274 GR13 ®13mm
MGS0726 TC0276 GR14.8 ®14.6mm
MGS0725 TC0275 GR20 ®15.3mm

MGF0086-40 TE0031-10 ®4.0mm
MFT8528 EA3573

MGUO0006-05 10N21 ®0.5mm
MGUO0006-10 10N22 ®1.0mm
MGUO0006-16 10N23 ®1.6mm
MGUO0006-20 10N23M  ®2.0mm
MGUO0006-24 10N24 ®2.4mm
MGUO0006-32 10N25 ®3.2mm
MGUO0006-40 54N20 ®4.0mm
MGUO0007-05 10N21S  ©0.5mm
MGUO0007-10 10N22S  ®1.0mm
MGUO0007-16 10N23S  ®1.6mm

AOZ1124-101 AM  IBIE/TIGL7 /8 FF&/—IK/ 1655 /B R/ M12*1
AOZ1128-101 8M  IBHB/TIG17/8FFK/—K/16F 5 /{HH,FEHE/M12*1
AOZ2124-101 AM  1R4G/TIGLTF/BaFF %/ — K/ 1675 /{ARAFHR/M12*1
AOZ2128-101 8M  I2H/TIGL17F/EFF K /— iR/ 165 /(R FEMR/M12*1
AOZ3124-101 AM  IRIE/TIGL7V/BFF % /—R/ 16 /B ERR/M12*1
AOZ3128-101 8M  IRIS/TIGL7V/EFF %/ —iK/ 1635 MBRFAR/M12+1

222323222220 PPPOBONNNNNNN
SRR 0000000 gubhwNRNOOIRWNS

WN=22NOARWN =

- IEHA s 7 1T/ MGF0006-05 10N29 ®0.5mm 11.4 MGUO007-20 10N23MS ®2.0mm
AOZ4124-101 AM  IR16/TIGL7VF/BFFK/—K/ 165 75 /{RFHR/M12*1 MGF0006-10  10N30  ®1.0mm 115  MGU0007-24 10N24S 2 4mm
- IEFA se s N 1T * ° MGF0006-16  10N31 ®1.6mm 11.6 MGUO0007-32 10N25S  ®3.2mm
AOZ4128 101 8M l$¢B/TIGl7VF/$3:F9€/ /L6 5 MERFR/M1271 MGF0006-20 70064WT  ®2.0mm ® 12 MGKO0007 18CG
MGF0006-24 10N32 ®2.4mm 13 MGKO0005 54N63
MGF0006-32 10N28 ®3.2mm 14 MGKO0008 54N01
MGF0006-40 406488 ®4.0mm 15 MGK0062 TQ0017
MGF0006-48 30126 ®4.8mm ®16.1 MHJ0011 57Y02 Long
v CE @ MGF0002-10 45v0204  ®1.0mm 16.2 MHJO0051 57Y03 Medium
e MGF0002-16  45v116 ®1.6mm 16.3 MHJ0012 57Y04  Short
MGF0002-24 45v64 ®2.4mm ° 17 MGZ0062 WP-17
MADE IN CHINA MGF0002-32 995795  ®3.2mm 18  AGZ0062-00

OOOOONNANNANONAARAARARWOWWWONNNNAS S22
OhwWNhNLroNOORWNINOORWNCOORWNARWNAINDOBWNS

MGF0002-40 45ve63 ®4.0mm



27K4 WATER COOLED
75100% 2= Duty100%DC:320 Amp
52 55371 009 E2 Duty100%AC:240 Amp
.EEWR—JElectrode Size:0.5-4.0 WIRE

AIIEECFFS& SWITCH
® HIJX Single
WFFX Double
POFF>% Four
FEAI2E Poti

I MRS

Procurement code

AOB1124-101 AM  IBH6/TIG18/EFF%/8F 5 /A F R/ M12+1
AOB1128-101 8M  IBH/TIG18/BaFF%/8F 15 /B FHR/M12*1
AOB2124-101 AM 1248/ TIGL8F/EBaFF /85 /A FiR/M12+*1
AOB2128-101 8M  I1EH/TIG18F/BaFT%/8F 5 /B, FH/M12*1
AOB3124-101 AM  I1ES/TIG18V/BTFF¥/8SE 5 /{5 FEM/M12%1
AOB3128-101 8M  IEH/TIG18V/EFFX/8 /5 /A FiR/M12+*1
AOB4124-101 AM 124/ TIG18VF/EAFF /8 /BT FEM/M12*1
AOB4128-101 8M  IB/TIG18VF/BaFTK/8F 5 /B FHi/M12*1

¥ (€©
MADE IN CHINA

1iE
BACK CAP oo .

HRIZIR

INSULATOR -+ .

SIES

co

AR IR

COLLET BODY v .

LLET

76 "

ek

BB
CERAMIC CUP
> | |

BT a4 S G

Consumables procurement code

( “o” MIFERLE / With® @ "is the standard configuration)
Posntlon Code Ref. Description Position Code
1.1 MGS0007 10N50 GR4 ®6.5mm 7.1 MGF0001-05

e 1.2 MGS0008 10N49 GR5 ®8mm 7.2 MGF0001-10
1.3 MGS0009 10N48 GR6 ©®9.5mm 7.3 MGF0001-16
1.4 MGS0005 10N47 GR7 ®11mm 7.4 MGF0001-20
1.5 MGS0001 10N46 GR8 ®12.5mm 7.5 MGF0001-24
1.6 MGS0002 10N45 GR10 ®16mm 7.6 MGF0001-32
1.7 MGS0003 10N44 GR12 ®19.5mm 7.7 MGF0001-40
2.1 MGS0020 57N75 GR6 ®9.5mm 8.1 MGF0086-10
2.2 MGSO0027 53N88 GR10 ®12.5mm 8.2 MGF0086-16
2.3 MGS0026 57N74 GR8 ®16mm 8.3 MGF0086-20
2.4 MGS0028 53N87 GR12 ®19.5mm 8.4 MGF0086-24
3.1 MGS0086 54N18 GR4 ®6.5mm 8.5 MGF0086-32
3.2 MGS0087 54N17 GR5 ®8mm 8.6 MGF0086-40
3.3 MGSO0088 54N16 GR6 ®9.5mm 9 MFT8528
3.4 MGS0089 54N15 GR7 ®11mm 10.1 MGUO0006-05
3.5 MGS0085 54N14 GR8 ®12.5mm 10.2 MGU0006-10
3.6 MGS0082 54N19 GR12 ©®19.5mm ¢ 10.3 MGU0006-16
41 MGS0720 TC0270 GR6 ®6mm 10.4 MGUO0006-20
4.2 MGS0721 TC0271 GR8 ®8mm 10.5 MGUO0006-24
4.3 MGS0722 TC0272 GR10 ®10mm 10.6 MGUO0006-32
4.4 MGS0723 TC0273 GR11 ®11mm 10.7 MGUO0006-40
45 MGS0724 TC0274 GR13 ®13mm 11.1 MGUO0007-05
4.6 MGS0726 TC0276 GR14.8 ®14.6mm 11.2 MGUO0007-10
4.7 MGS0725 TC0275 GR20 d15.3mm 11.3 MGUO0007-16
5.1 MGF0006-05 10N29 ®0.5mm 11.4 MGUO0007-20
5.2 MGF0006-10 10N30 ®1.0mm 11.5 MGUO0007-24

® 53 MGF0006-16 10N31 ®1.6mm 11.6 MGUO0007-32
5.4 MGF0006-20 70064WT ®2.0mm ® 12 MGK0007
5.5 MGF0006-24 10N32 ®2.4mm 13 MGKO0005
5.6 MGF0006-32 10N28 ®3.2mm 14 MGKO0008
5.7 MGF0006-40 406488 ®4.0mm 15 MGK0062
5.8 MGF0006-48 30126 ®4.8mm ®16.1 MHJ0011
6.1 MGF0002-10 45v0204 ®1.0mm 16.2 MHJ0051
6.2 MGF0002-16 45Vv116 ®1.6mm 16.3 MHJ0012
6.3 MGF0002-24 45v64 ®2.4mm 17 MGI0063
6.4 MGF0002-32 995795 ®3.2mm 18 AGZ0063-00
6.5 MGF0002-40 45v63 ®4.0mm

. TORCH BODY

R ReaM
HANDLE SUPPORT

18

Ref.

45V29
45V24
45V25
70060WT
45V26
45V27
45V28
TEO0031-10
TEO0031-10
TEO0031-10
TEO0031-10
TEO0031-10
TEO0031-10
EA3573
10N21
10N22
10N23
10N23M
10N24
10N25
54N20
10N21S
10N22S
10N23S
10N23MS
10N24S
10N25S
18CG
54N63
54N01
TQO0017
57Y02
57Y03
57Y04
WP-18

Description

®0.5mm
®1.0mm
®1.6mm
®2.0mm
d2.4mm
®3.2mm
D4.0mm
®1.0mm
®1.6mm
®2.0mm
®2.4mm
®3.2mm
®4.0mm

®0.5mm
®1.0mm
®1.6mm
®2.0mm
®2.4mm
®3.2mm
D4.0mm
®0.5mm
®1.0mm
®1.6mm
®2.0mm
®2.4mm
®3.2mm

Long
Medium
Short

TIG 18 .



%3’%;9 GAS COOLED
7535%E = Duty35%DC:180 Amp
@ ZFR35%EEZ Duty35%AC:150 Amp
.EEWR—JElectrode Size:0.5-4.0 WIRE

ATIEECFF & SWITCH
® HIX Single
WFFX Double
POFF>% Four
FEAI2E Poti

I MRS

Procurement code

AOW1124-101 A4M  IBHE/TIG26/5aFF3&/—1K/ 2555 /B FFE/M12*1

AOW1128-101 8M  IBH6/TIG26/BF K /—K/25F /5 /(B FERR/M12+1

AOW?2124-101 AM  IBHS/TIG26F/BFFR/—K/ 25 5 /B FME/M12+*1
AOW?2128-101 8M  IBHE/TIG26F/BaFF & /—1A/ 255 /5 M FR/M12*1
AOW3124-101 AM  IBHS/TIG26V/EFFK/—R/25F /5 /{BFR/M12*1
AOW3128-101 8M  IRHE/TIG26V/EFFR/—K/ 255 5 /A FME/M12+*1
AOWA4124-101 AM  I2H/TIG26VF/BEFF/— /25 /B FR/M12+1
AOWA4128-101 8M  IEHS/TIG26VF/BEFFE/—i/ 255 MERFM/M12*1

¥ (€©
MADE IN CHINA

17ing
BACK CAP

HBIZIN

INSULATOR -+ .

ARk

Cco

EEAR SRR

COLLET BODY v .

PER B
CERAMIC CUP

LLET -

A = A
LT 4w S /
Consumables procurement code
(fF “o” MIFEEE / With @ "is the standard configuration)
Posdlon Code Ref. Description Position
1.1 MGS0007 10N50 GR4 ®6.5mm 7.1

e 1.2 MGS0008 10N49 GR5 ®8mm 7.2
1.3 MGS0009 10N48 GR6 ®9.5mm 7.3
1.4 MGS0005 10N47 GR7 ®11mm 7.4
1.5 MGS0001 10N46 GR8 ®12.5mm 7.5
1.6 MGS0002 10N45 GR10 ®16mm 7.6
1.7 MGSO0003 10N44 GR12 ®19.5mm 7.7
21 MGS0020 57N75 GR6 ®9.5mm 8.1
2.2 MGS0027 53N88 GR10 ®12.5mm 8.2
2.3 MGS0026 57N74 GR8 ®16mm 8.3
2.4 MGS0028 53N87 GR12 ®19.5mm 8.4
3.1 MGS0086 54N18 GR4 ®6.5mm 8.5
3.2 MGS0087 54N17 GR5 ®8mm 8.6
3.3 MGSO0088 54N16 GR6 ®9.5mm 9
3.4 MGSO0089 54N15 GR7 ®11mm 10.1
3.5 MGS0085 54N14 GR8 ®12.5mm 10.2
3.6 MGS0082 54N19 GR12 ©®19.5mm ¢ 10.3
41 MGS0720 TC0270 GR6 ®6mm 10.4
4.2 MGS0721 TC0271 GR8 ®8mm 10.5
4.3 MGS0722 TC0272 GR10 ®10mm 10.6
4.4 MGS0723 TC0273 GR11 ®11mm 10.7
4.5 MGS0724 TC0274 GR13 ®13mm 11.1
4.6 MGS0726 TC0276 GR14.8 ®14.6mm 11.2
4.7 MGS0725 TC0275 GR20 ®15.3mm 11.3
51 MGF0006-05 10N29 ®0.5mm 11.4
5.2 MGF0006-10 10N30 ®1.0mm 11.5

® 53 MGF0006-16 10N31 ®1.6mm 11.6
5.4 MGF0006-20 70064WT ®2.0mm ® 12
5.5 MGF0006-24 10N32 ®2.4mm 13
5.6 MGF0006-32 10N28 ®3.2mm 14
5.7 MGF0006-40 406488 ®4.0mm 15
5.8 MGF0006-48 30126 ®4.8mm ® 16.1
6.1 MGF0002-10 45v0204 ®1.0mm 16.2
6.2 MGF0002-16 45Vv116 ®1.6mm 16.3
6.3 MGF0002-24 45v64 ®2.4mm ° 17
6.4 MGF0002-32 995795 ®3.2mm 18
6.5 MGF0002-40 45ve3 ®4.0mm

eSS
.- TORCH BODY
(PR FREH
HANDLE SUPPORT
18
Code Ref. Description
MGFO0001-05 45v29 ®0.5mm
MGF0001-10 45v24 ®1.0mm
MGF0001-16 45v25 ®1.6mm
MGF0001-20 70060WT ®2.0mm
MGF0001-24 45v26 ®2.4mm
MGF0001-32 45v27 ®3.2mm
MGF0001-40 45v28 ®4.0mm
MGF0086-10 TE0031-10 ®1.0mm
MGF0086-16 TE0031-10 ®1.6mm
MGF0086-20 TE0031-10 ®2.0mm
MGF0086-24 TE0031-10 ®2.4mm
MGF0086-32 TE0031-10 ®3.2mm
MGF0086-40 TE0031-10 ®4.0mm
MFT8528 EA3573
MGUO0006-05 10N21 ®0.5mm
MGUO0006-10 10N22 ®1.0mm
MGUO0006-16 10N23 ®1.6mm
MGUO0006-20 10N23M  ®2.0mm
MGUO0006-24 10N24 ®2.4mm
MGUO0006-32 10N25 ®3.2mm
MGUO0006-40 54N20 ®4.0mm
MGUO0007-05 10N21S  ®0.5mm
MGUO0007-10 10N22S  ®1.0mm
MGUO0007-16 10N23S  ®1.6mm
MGUO0007-20 10N23MS ®2.0mm
MGUO0007-24 10N24S  ®2.4mm
MGUO0007-32 10N25S  ®3.2mm
MGK0007 18CG
MGKO0005 54N63
MGKO0008 54N01
MGK0062 TQ0017
MHJO0011 57Y02 Long
MHJ0051 57Y03 Medium
MHJ0012 57Y04 Short
MGZ0071 WP-26
AGZ0071-00




@ TIG20

BACK CAP --eevv- .

HEFIN =
INSULATOR -+ A S ﬁ%ﬁCH BODY
EERk

COLLET -oveees .

FEAR SRR
COLLET BODY - g A RN
HANDLE SUPPORT
P&

27Ki¢ WATER COOLED

oo E971100% 2% Duty100%DC:250 Amp
12 ] 00% B Duty100%AC:220 Amp
|2 EEtR R Electrode Size:0.5-3.2 WIRE

AIIEECFF S SWITCH
® HJFX Single
WFF % Double
PUFF3% Four
FEAI2S Poti

CERAMIC CUP .

BLH T4 =
Consumables procurement code

(F “o” AFRERLE / With“ @ "is the standard configuration)

%é*ﬁi—_r)n\qgﬁ% :os‘:tion MG SngeG ; Ref. Description I;:s;tion MGU (;':(;)3; 05 Ref. Description
. 13N12 GR8 ®12.5 ® 5, - 13N20 0.5
Procurement code 1.2 MGS0062 13N13 GR10 ¢16m:m 5.2 MGUO0008-10  13N21 ¢1.0T1Tn
1.3 MGS0065 13N11 GR7 ®11mm 5.3 MGUO0008-12 701.0254 ®1.2mm
‘ ) . 1.4 MGS0067 13N08 GR4 ®6.4mm 5.4 MGUO0008-16 13N22  ®1.6mm
AOM1124-101 4M 1246/TIG20/ BB FF 5 /AH /(B FEHR/M12*1 ° 12 mgggggg 13N09 CéRs :;Smm gg mgggggg-gg 70066WT Cg2.0mm
N . > . . 13N10 R6 ®9.5mm . - 13N23 2.4mm
AOM1128-101 8M  IBH/TIG20/BFF K /45 /B FR/M12*1 1.7 MGS0041 796F71 GRAL ®6.5mm 5.7 MGUO0008-32  13N24  ®3.2mm
N - . 1.8 MGS0042 6.1 MGUO0033-05 ]
AOM2124-101 AM  IR16/TIG20F/BFFK/A 75 /B R/M 1241 19 MGS0043  ro6r7s GReL ©o.emm 62 MGUO03310 121l otomm
- ! > NG =i/ * 1.10 MGS0045 796F70 GR3L ®4 6.3 MGUO0033-16  13N22L ®1.6
AOM2128 101 8M l:E'Jf’B\/TIGZOF/%T—FEE/4:F7’3—/{EH/¥M/M12 1 21 MGS0020 57N75 GR6 @9.n¢':$m 6.4 MGUO0033-20 13N23L ¢2.02$
_ WE A > N 7 * 2.2 MGS0026 57N74 GR8 ®16 6.5 MGUO0033-24  13N23ML 2.4
AOM3124 101 4M l:E'JfB/TIG20V/$3:F9€/4:F7’:T/1EH,$W/M12 : 2.3 MGS0027 53N88 GR10 @1£$m 6.6 MGU0033-32 13N24L cbs.zmnn:
AOM3128-101  8M  i=16/TIG20V/SF /A5 (5 FHR/M121 28 Mososss T cmzomem T eieare e
. omm
AOM4124-101 AM  1246/TIG20VF/BAFFE/ASETS T FER/M12*1 e31 MGF0008-05 13N25  ©0.5mm ©9.1 MHJ0018 s
N 3.2 MGF0008-10 . 9.2 MHJ0019 i
AOM4128-101 8M  IEH6/TIG20VF/BFFK/AF 5 /B FiR/M12*1 3.3 MGF0008-12 o 23.322 9.3 MHJ0015 g::: "
3.4 MGFO0008-16  13N27 ®2.0mm 10 AGI0070-00
3.5 MGFO0008-20 13N27M ®2.4mm
3.6 MGF0008-24 13N28 ®3.2mm
3.7 MGF0008-32 13N29 ®4.0mm
V CE @ 41 MGF0060-10  45v0204S ®1.0mm
ROHS 4.2 MGF0060-16  45v116S ®1.6
. TIG 20 MADE IN CH'NA 4.3 MGF0060-24 45V64S <D2.4m:
4.4 MGF0060-32 995795S  ®3.2mm




@ TIG 25

A7Ki& WATER COOLED
oo E371100% 22 Duty100%DC:250 Amp
2] 357 100% ET 2= Duty100%AC:220 Amp
EBfR R Electrode Size:0.5-3.2 WIRE

AMEBCFFX SWITCH
® HJFx Single

WFF X Double

PUFF3% Four

oo

FEI2E Poti

i1 Wm=
Procurement code

AOJ1124-101 4M
AOJ1128-101 8M

&8/ TIG25 /8T K /4 ¥ 75 /IBRFR/M12%1
\&18/TIG25/8F K /4 ¥ 75 /IBRFR/M12%1

Y (€©®
MADE IN CHINA

SIS
COLLET

EEAR SR

COLLET BODY - .

M
CERAMIC CUP

Aot iT a4 S

Consumables procurement code

ek
TORCH BODY

(& “o” AFRERLE / With“ @ "is the standard configuration)

Position Code
1.1 MGS0061
1.2 MGS0062
1.3 MGS0065
1.4 MGS0067
©1.5 MGS0068
1.6 MGS0069
1.7 MGS0041
1.8 MGS0042
1.9 MGS0043
1.10 MGS0045
2.1 MGS0020
2.2 MGS0026
2.3 MGS0027
24 MGS0028
2.5 MGS0029
©3.1 MGF0008-05
3.2 MGFO0008-10
3.3 MGF0008-12
3.4 MGFO0008-16
3.5 MGF0008-20
3.6 MGF0008-24
3.7 MGF0008-32

Ref.

13N12
13N13
13N11
13N08
13N09
13N10
796F71
796F72
796F73
796F70
57N75
57N74
53N88

Description

GR8 ®12.5mm
GR10 ®16mm
GR7 ®11mm
GR4 ®6.4mm
GR5 ®8mm
GR6 @9.5mm
GR4L $6.5mm
GR5L ®8mm
GR6L 99.5mm
GR3L ®4mm
GR6 @9.5mm
GR8 ®16mm
GR10 ®12.5mm

53N87 GR12 ®19.5mm
53N89 GR15 ®24mm
13N25 $0.5mm
13N26 ®1.0mm
701.0276 ®1.2mm
13N27 ®1.6mm
13N27M  ©2.0mm
13N28 ®2.4mm
13N29 ®3.2mm

Position
4.1
4.2
4.3
4.4
4.5
4.6
©51
5.2
5.3
5.4
5.5
5.6
5.7
6.1
6.2
6.3
6.4
°7
°8

Code

MGF0005-05
MGF0005-10
MGF0005-16
MGF0005-20
MGF0005-24
MGF0005-32
MGUO0008-05
MGU0008-10
MGU0008-12
MGUO0008-16
MGU0008-20
MGU0008-24
MGUO0008-32
MGUO0005-05
MGUO0005-10
MGUO0005-16
MGUO0005-24
MGI0075
AGI0075-00

8 .

AR FRAN
HANDLE SUPPORT

Ref. Description

45V41 ©0.5mm
45V42 ®1.0mm
45V43 ®1.6mm
70058 ®2.0mm
45V44 ®2.4mm
45V45 ®3.2mm
13N20 ®0.5mm
13N21 ®1.0mm
701.0254 ®1.2mm
13N22 ®1.6mm
70066WT ®2.0mm
13N23 ®2.4mm
13N24 ®3.2mm
53N62 ®0.5mm
53N63 ®1.0mm
53N64 ®1.6mm
24GLC332 ®2.4mm
WP-25

TIG 25 l



® TIG 24

w;q GAS COOLED

EI7E35% 8 Duty35%DC:110 Amp
m 3SR EELER Duty35%AC:95 Amp
\2) BBtk R<FElectrode Size:0.5-2.4 WIRE

ALEECFF X SWITCH
® HJFX Single
WFH% Double
PUF 3% Four
FEI88 Poti

I8 MRS

Procurement code

AOK1124-101
AOK1128-101
AOK2124-101
AOK2128-101

4M
8M
4M
8M

\EIB/TIG24/BBFFR/—/ 8 73 /(B R/M12*1
\EIB/TIG24/BBFFR/—/ 8 75 /(B FR/M12*1
\EIB/TIG24F /TR /— 1K/ 815 MARZFAR/M12*1
\EIB/TIG24F /TR /—1K /875 MARZFAR/M12*1

¥ (€©
MADE IN CHINA

BRI
CERAMIC CUP -,

ek
TORCH BODY -,

BBk
COLLET -ovvoes .

FEAR SRR
COLLET BODY

AREFIRAT
HANDLE SUPPORT

BT S

Consumables procurement code

(FF “o” NFFERE / With“ @ "is the standard configuration)
Position Code Ref. Description

1.1 MGS0095 53N61S GR8 ®12.5mm
MGS0096 53N58 GR4 ®6.5mm
MGS0097 53N59 GR5 ®8mm
MGS0098 53N60 GR6 @9.5mm
MGS0099 53N61 GR7 ®11mm
MGF0009-05 53N17 ®0.5mm
2.2 MGFO0009-10 53N18 ®1.0mm
2.3 MGF0009-16 53N19 ®1.6mm
2.4 MGF0009-24 24CB332 ®2.4mm
® 31 MGUO0009-05 53N15 ®0.5mm
3.2 MGU0009-10 53N16 ®1.0mm
3.3 MGUO0009-16 53N14 ®1.6mm
3.4 MGU0009-24 24C332  ®2.4mm
°4 MGZ0079 WP-24
®5 AGZ0079-00

“obwi

1
1
ilP
1
2




© TIG 24w

A 7k4 WATER COOLED

o) E375100% 552 Duty100%DC:180 Amp

%’ 7100%E#E Duty100%AC:120 Amp
%*&R‘IElectrode Size:0.5-2.4 WIRE

ALEECFF X SWITCH
® HIJFX Single
WFH% Double
PU9F 3% Four
FEI8% Poti

28T MRS

Procurement code

AOA1124-101 A4M  IBE/TIG24W/BFT% /A M FER/M12+1
AOA1128-101 8M  IBHS/TIG2AW/ BT K /AT /B FEE/M12*1
AOA2124-101 AM  I2H6/TIG24W F/EATFFE/AE TS5 M5 FEAR/M12+1
AOA2128-101 8M  IBi8/TIG24W F/BAFFR/AE 5 /B FMR/M12+%1

Y (€®

l TIG 24W MADE IN CHINA

ek
TORCH BODY .

RNk
COLLET -veeeeee .

FEAR SR
COLLET BODY -,

(AR FREMN
HANDLE SUPPORT

5"

I
CERAMIC CUP -,

BT %R S

Consumables procurement code

(FF “o” RIFEEE / With @ "is the standard configuration)
Position Code Ref. Description

1.1 MGS0095 53N61S GR8 ®12.5mm

1.2 MGS0096 53N58 GR4 @6.5mm
1.3 MGS0097 53N59 GR5 ®8mm
1.4 MGS0098 53N60 GR6 @9.5mm
1.5 MGS0099 53N61 GR7 ®11mm
2.1 MGFO0009-05 53N17 ®0.5mm

2.2 MGF0009-10 53N18 ®1.0mm
2.3 MGF0009-16 53N19 ®1.6mm
2.4 MGF0009-24 24CB332 ®2.4mm

® 3.1 MGU0009-05 53N15 ®0.5mm
3.2 MGU0009-10 53N16 ®1.0mm
3.3 MGU0009-16 53N14 ®1.6mm
3.4 MGU0009-24  24Cc332 ®2.4mm

°4 MGI0079 WP-24W

®5 AGZ0079-00




@© TIG 450w

A 7Ki% WATER COOLED
B 100%E 22 Duty100%DC:400 Amp
2] 2571 00% E 2= Duty100%AC:280 Amp
Btk R FElectrode Size:0.5-3.2 WIRE

AIIEECFF & SWITCH
® EJffxX Single
WFFX Double
POFF>% Four
FEAIEE Poti

IS TTWmS
Procurement code

ABT1174-101 A4M  IBHS/TIGASOW/EEFFR/6E 5 /A FR/M12+%1
ABT1178-101 8M  IEH/TIGA50W/EFFX/6 5 /A FiR/M12%1

v (€©
. TIG 450W MADE IN CHINA

el
BACK CAP
fesk

TORCH BODY .

LSS
COLLET

BB

CERAMIC CUP

BT %R S

Consumables procurement code

(F “o” AFLERLE / With® @ "is the standard configuration)

Position

11
1.2
1.3
1.4

21
2.2
2.3
2.4

*3

41
4.2

5

Code

MGS0702
MGS0701
MGS0703
MGS0704
MGUO0607-16
MGU0607-24
MGU0607-32
MGU0607-48
MGI0563
MHJ0611
MHJ0612
AGI0563-00

Ref.

GR6
GR8
GR10
GR12
775.0062
775.0063
775.0064
775.0066

Description

®9.5mm
®16mm
®12.5mm
®19.5mm
®1.6mm
®2.4mm
®3.2mm
®4.8mm

ARZFmE
HANDLE SUPPORT




ek
. TORCH BODY

ek
TORCH BODY -,

FEAR SRR
COLLET BODY -,

EREFRAEM
HANDLE SUPPORT

8 .

A7Ki4 WATER COOLED
o EI735% 8% Duty35%DC:500 Amp
2] 25735 % E = Duty35%AC:350 Amp
B3R/ T Electrode Size:1.6-4.0 WIRE

P
CERAMIC CUP -,

BCfFIT %=
Consumables procurement code

Y

(FF “o” AFMEERLE / With® @ ”is the standard configuration)

= > M 5 é = Position Code Ref. Description Position Code Ref. Description
IE*ﬁﬂ_)‘,]'ﬁ_q 1.1 MGS0020 57N75 GR6 ®9.5mm 3.1 MGF0066-16 11GL16 ®1.6mm
Procurement code 1.2 MGS0026 57N74 GR8 ®12.5mm 3.2 MGF0066-24 11GL32  ®2.4mm
- 1.3 MGS0027 53N88 GR10 ®16mm 3.3 MGF0066-32 11GL18  ®3.2mm
IP76906 AM SINGLE/EEFFx M12x1 1.4 MGS0028 53N87 GR12 ®19.5mm 3.4 MGF0066-40 11GL53  ®4.0mm
AIR TUBE/SE& 1/4G 1.5 MGS0029 53N89 GR15 ®24mm 3.5 MGF0066-48 11GL36  ®4.8mm
IPZ6306 8SM WATER INLET/3#7K% 3/8G ° 2, MGS0681 14N61-10 GR10 ®16mm ° 4 MGF0067 11WP65
2.2 MGS0682 14N61-12 GR12 $19.5mm e 51 MGU0066-16 85214 ®1.6mm
2.3 MGS0683 14N68 GR10 ®6.5mm 5.2 MGU0066-24 85215 ®2.4mm
2.4 MGS0684 14N69 GR12 ®8mm 5.3 MGU0066-32 85216 ®3.2mm
2.5 MGS0685 14N61 GR8 ®12.5mm 5.4 MGU0066-40 85217 ®4.0mm
2.6 MGS0686 14N57 GR4 ®6.5mm 5.5 MGU0066-48 85218 ®4.8mm
2.7 MGS0687 14N58 GR5 ®8mm ® 6 MGI0970 WP-12
2.8 MGS0688 14N59 GR6 ®9.5mm 7.1 MHJ0678 Long
2.9 MGS0689 14N60 GR7 ®11mm e 7.3 MHJO679 Short
2.10 MGS0690 14N70 GR4 ®9.5mm 8 IGV0003 85WP13

2.11 MGS0696 14N71 GR4 ®11mm
2.12 MGS0697 14N72 GR4 ®12.5mm

Y (€E®
MADE IN CHINA TIG 12 .




@ &R IEE Modular Torch

TSA 17
*

' Technical data | BARSY A0Z6124-102 4M
«=90° Cooling: Gas Cooled | 4HHR: 5%
Duty35%DC: 150AMP | E335%% $% : 150AUP
Duty35%AC: 110AMP | ZmssuEa=:110mp AOZ6128-102 8M
Electrode Size: 1.0-3.2mm : EARR 1. 0-3. 2mm

2

' Technical data

Duty35%DC: 200AMP | Ei#35%& &% : 200AMP
Duty35%AC: 140AMP | 3Zi735%& &% : 140AMP
Electrode Size: 1.0-4.0mm : AR R~ :1. 0-4. Omm

290" | BAREH AOM6124-504  4M
Cooling: Water Cooled | #1753 :7k%
Duty35%DC: 225AMP | ELi35%% 8% : 225AUP
Duty35%AC: 160AMP | Zmaswarsis: 160ap AOME128-504  8M
Electrode Size: 0.5-3.2mmi HEARR~F:0. 5-3. 2mm
/
«=70°
Technical data | BB AOM6124-102 4M
«=gp: Cooling: Gas Cooled i BEAR: R4
|
1

AOM6128-102 8M

l {184 Modular Torch

Lol Wp—

Torch sintig TSA17 4m M12 x1
B/ FX/TSA17/ 4m IM12 x1

Torch sintig TSA17 8m M12 x1
JEIB/EFFX/TSA17/ 8m /M12 %1

Torch sintig TSA20 4m M12 x1
B8/ FFX/TSA20/ 4m /M12 x1

Torch sintig TSA20 8m M12 x1
B8/ FF/TSA20/ 8m /M12 x1

Gode | Longt
o Gy T I MR

Torch sintig TSA26 4m M12 x1
B8/ FX/TSA26/ 4m /M12 x1

Torch sintig TSA26 8m M12 x1
B8/ FF/TSA26/ 8m /M12 x1

Y (€®
MADE IN CHINA

TIG Wire-Feeding Torch i% %16

TIGY9

AOT1394-608 TIG9 4M
AOT1398-608 TIG9 8M

BABH: S8
BHin35%&&H=E: 120AMP
Zim35%EH=: 85AMP
BRI 0.5~1.6mm

TIG17

AOZ1394-608 TIG17 4M
AOZ1398-608 TIG17 8M

BB 8¢
Hin35%&&H=E: 140AMP
Zim35%EHE: 125AMP
BRRT: 1.0~3.2mm

T1G18

AOB1394-308 TIG18 4M
AOB1398-308 TIG18 8M

BB K

HiR100% &&= 320AMP
Rim100%EEH=E: 240AMP
BRI 1.0~3.2mm

T1G20

AOM1394-308 TIG20 4M
AOM1398-308 TIG20 8M

BEBR: K
Bif100%EH=E: 250AMP
Zim100%E#E: 220AMP
BRRT: 1.0~3.2mm

TIG26

AOW1394-608 TIG26 4M
AOW1398-608 TIG26 8M

BABH: S8

Bif35%8#H=E: 180AMP
m35%EHZ=: 150AMP

BRI 1.0~3.2mm

TIG Wire-Feeding Torch i% #18 .

Cooling: Air-Cooled
Duty35%DC: 120AMP
Duty35%AC: 85AMP
Electrode Size:0.5~1.6mm

Cooling: Air-Cooled
Duty35%DC: 140AMP
Duty35%AC: 125AMP
Electrode Size:1.0~3.2mm

Cooling: Water-Cooled
Duty100%DC: 320AMP
Duty100%AC: 240AMP
Electrode Size:1.0~3.2mm

Cooling: Water-Cooled
Duty100%DC: 250AMP
Duty100%AC: 220AMP
Electrode Size:1.0~3.2mm

Cooling: Air-Cooled
Duty35%DC: 180AMP
Duty35%AC: 150AMP
Electrode Size:1.0~3.2mm



y—

=

@ MINOO

| EIR/SEES XL

TIG COLD WIRE LASER WIRE FEEDER J
o BELEBZMNERAIF L, IKE TR T[RRI .

Automatic wire-feeder system,available for multiple application especially
especially useful for deep-corner welding.

° IRLLIRE R AT/ G780, EREFRIEN200%,
Wire-feeding speed of up to 7 meter per minute,a 200% increase in efficiency.

o EKLIREREO. 1K/ D8, ELEREI5LT,
Margin of error of only up to 0.1 meters per minute, spool capacity
of 15 kilograms.

o HALRHELLINEE, ABKENILL
Equipped with delayed start and pulsation functions.

e ATATAEM, 8. WRINEIE, B£EH]R0.8-1. 6K,
Can be used with stainless steel,aluminium and standard steel wire with
a diameter from 0.8 to1.6mm.

* TIGO100:EAFFIEIMNE. BoiFEINIE
Used for manual and automatic TIG welding.

Y (€®

minoo ()

| EIR/SEES XL

TIG COLD WIRE LASER WIRE FEEDER J
o BEIFLEEENECAIMSE, RETRITMERFEL.

Automatic wire-feeder system,available for multiple application especially
especially useful for deep-corner welding.

° ELZIRE R KTR/ T80, IR IE N200%.

Wire-feeding speed of up to 7 meter per minute,a 200% increase in efficiency.
° ELREBREEO K/ D, ZLBSEISLT,

Margin of error of only up to 0.1 meters per minute, spool capacity

of 15 kilograms.

o HAERNELZLINGE, FIPKENIEZ
Equipped with delayed start and pulsation functions.

e TATAEW. 8. kNIEE, B2EHR0.8-1. 62K,
Can be used with stainless steel,aluminium and standard steel wire with
a diameter from 0.8 to1.6mm.

* TIGO200;EATFITREIMIE. BEaIEIMNELUR AR

Used for manual and automatic TIG welding,and laser welding.

TIG COLD WIRE LASER WIRE FEEDER S il /{E 598 £ # .



@ MICROTIG

L #FKETorch head length: 80mm/140mm/300mm

\\éi #E IR Cooling: K4 /K% Air/Water-Cooled
BHR35%E HZE Duty35%DC:50 Amp (4 Air-Cooled)
BHR100%E #H Z Duty100%DC:125 Amp  (7k42Water-Cooled)

1 #% R~} Electrode Size:1.0-2.4 WIRE

i1 W m=

Procurement code

AOU1124 4M M12*1/L=80mm
AOU1128 8M M12*1/L=80mm

AOU1124-01  4Mm
AOU1128-01 &M
AOU1124-02  4Mm
AOU1128-02 &M

BLHTT 4R =
Consumables procurement code

M12*1/L=140mm
M12*1/L=140mm
M12*1/L=300mm
M12*1/L=300mm

. = &

1% 1GS0004 e L E @ 1IZH6050 FR% IGU0075-10  E$F4rifizs ICF6006

. MICRO TIG

Y (E©
MADE IN CHINA

« BRARER IR

UNIVERSAL QUICK CONVERTOR

- MINIEIE B IRIEIZ RS B TR MIEN.

* TIG torch universal quick converter:suitable for adapting different.
- BEMFIRRRIEN. (ZEFIBRIED)

+ Generators with unique torch. (PATENT PENDING)

@ minoo

f ===s < GAS

5PIN

-

%3k / CONNECTOR AnfEiEsk / SWITCH PLUG WIRING
- OeIKEEEL | - D6 Quick connector ‘ E,;B | * Blue: B
- P131RIE - - ®13Cable coupler : ;;;F?% : E:S;VnA solate
- 5t | * 5-core Swich plug i CD 3 Bridge C-D

- SERTFTIGENHER “artec™/ Applicable to TIG manufacturers of current source “artec®™

E ===4 —GAs

-

[ 3 /CONNECTOR | FiiEiZL: / SWITCH PLUG WIRING
- QEKIEEEL - D6 Quick connector ° HE:A Blue: A
- O13MRHE - - ®13 Cable coupler o iR:C Brown: C
- SIAiE - - 5-core Switch plug ° JR:B | Gray: B

ERFTIGEN SR “artec® / Applicable to TIG manufacturers of current source “artec”

UNIVERSAL QUICK CONVERTOR .



UNIVERSAL QUICK CONVERTOR

B ==@% — GAS

*-_-:. -
B ==s% _ water %3k / CONNECTOR fRifiEL / SWITCH PLUG WIRING

«— water

5PIN
— GAS

7 o %1 . ®Blue:l
- O67KEEIEL | - P6Quick connector o Jx:2 | e Gray:2
- PLI3MRIE - - ®13 Cable coupler e Z:3 - e Black: 3
- TAiE -+ T-core Switch plug ° 1316 | Brown:6
° 41:5 . e Red:5
#%3k / CONNECTOR AnfdEtELL / SWITCH PLUG WIRING < SEATFTIGIENEER “castolin® Up/Down” / Applicable to TIG manufacturers of current source “castolin® Up/Down”
- O6KEEEL | - D6 Quick connector ° 15:B | e Blue:B
- O6KEEIEL | - 6 Quick connector e iR FHEE | e Brown:isolate  water
- 5IGANIE -+ 5-core Switch plug o IX:A ® Gray: A
- O6kIREIEL | - ©6Quick connector WiE D-E Bridge D-E
- O13MRIFE .- ®13 Cable coupler — GAS

ERTFTIGIENEIER “artec™ / Applicable to TIG manufacturers of current source “artec®™

— - -

B ===% — water

«— water
 GAS 5PIN
%% / CONNECTOR AnidiEL / SWITCH PLUG WIRING
go| | i_f-‘ - O6KER@IESL | - D6Quick connector o E:1 | ® Blue:1
- O6KEiBREEL |+ ®6Quick connector °TR:2 e Gray:2
B =5 _ water - TEE -+ T-core Switch plug °*Z:3 e Black:3
- O6KER@IEL | - D6Quick connector ° I%:6 | ® Brown: 6
- O131RIE | - ®13Cable coupler ° 4]:5 | eRed:5

- SERTFTIGIEN SR “castolin® Up/Down” / Applicable to TIG manufacturers of current source “castolin® Up/Down”

$%3L / CONNECTOR AnfEtELL / SWITCH PLUG WIRING —GAS
- O6IKERIEFEL -+ ®6Quick connector
- OeKEEEL - P6Quick connector o A * Blue: A r-_-: .
- Sk -+ 5-core Switch plug o i5:C e Brown: C .
- PEKEBIEL | - d6Quick connector ° JR:B ® Gray:B | _ =
- O13MRIE - ®13 Cable coupler ‘ __.
3k / CONNECTOR i 2% / SWITCH PLUG WIRING
- ERATFTIGIENEISR “artec™ / Applicable to TIG manufacturers of current source “artec® ==/ HEEL /
- G3/8 . -G3/8 o W1 . ¢ Blue:l
UI SOL3MRE - d13Cablecoupler ° 153 | e Brown:3
CTEHUE - T-coreSwitchplug ° Ix:2 * Gray: 2

EATFTIGIEMSIER “cloos™ / Applicable to TIG manufacturers of current source “cloos®

l UNIVERSAL QUICK CONVERTOR UNIVERSAL QUICK CONVERTOR l



@ UNIVERSAL QUICK CONVERTOR

«— water — GAS
|

Mg 1 = | ':.

$#3k / CONNECTOR fiiidiELL / SWITCH PLUG WIRING

— GAS

E === — water

- G1/4 - Gl/4 ° I5:B ® Blue:B
3L / CONNECTOR fAEIES / SWITCH PLUG WIRING - OItRYE - ®9 Cable coupler o IR A% e Brown: isolate

- SIS - 5-core Switch plug e JR:A ® Gray:A

- Ok ERIEIEL + ®6 Quick connector

- G3/8 " G3/8 Bl ® Blue:1 - EATFTIGIEHEIER “d+>” / Applicable to TIG manufacturers of current source “d+*”

SRS 1k + 5-core Switch plug o 1R:3 e Brown: 3

- GeIKIREE - ®6 Quick connector TR e Gray: 2

- Q13RI - ®13 Cable coupler — GAS

EATFTIGENMEIER “cloos™ / Applicable to TIG manufacturers of current source “cloos®

|
gy 4 | -:.
##3k / CONNECTOR fridEL / SWITCH PLUG WIRING

F-::. — GAS

S -

a
3] o 4k - Gl/4 | +Gl/4 ° 5B i ® Blue: B
s GOINEEOR e SO UGB IRNE “OL3B4E | - d13 Cable coupler o fR:FR¥E | e Brown:isolate
o I%:3 . e Blue:3 -SifdE ¢ 5-core Switch plug ° KA | e Gray:A
- G1/8 I -G1/8 o IR R | e Brown: isolate
- 3 AiE |+ 3-core Switch plug ° Jx:2 - Gray:2 E AT | 4 (O . «y11®
g 13 Bridge 1-3 BEATFTIGENGIER “d+” / Applicable to TIG manufacturers of current source “d+l

EBRTFTIGIENEIER “Daelx® / Applicable to TIG manufacturers of current source “Daelx®”
<« water

«— water
— GAS

— GAS

e

23k / CONNECTOR fnidiEsk / SWITCH PLUG WIRING

$%X / CONNECTOR fiEiEL / SWITCH PLUG WIRING . O6KEEEL | - ©6Quickconnector
. o - G1/4 . - Gl/a o 5B e Blue: B
. giﬁ . gi;i e k2 ® Blue:2 - SR + 5-core Switch plug o IR R e Brown: isolate
C3WEHE | - 3-core Switch plu o R e Brown:isolate - OEKEEEL - ®6Quick connector o KA * Gray: A
. N;lil\z*l M2t P ki1 ® Gray:1 - O13MRE .+ ®13 Cable coupler

s ' e g | O . “ @
ERTFTIGIENSER “Daelx™ / Applicable to TIG manufacturers of current source “Daelx®™ BRATFTIGRHBLSR "d+™ / Applicable to TIG manufacturers of current source “d+l

UNIVERSAL QUICK CONVERTOR .

. UNIVERSAL QUICK CONVERTOR



@ UNIVERSAL QUICK CONVERTOR

-

«—

GAS

— = - —'-’ '
| -
$%3% / CONNECTOR AidiEsk / SWITCH PLUG WIRING
- G1/4 G1/4 - * Blue:B 1%L / CONNECTOR ARifiEL / SWITCH PLUG WIRING
- OORHE - ®9 Cable coupler o iR e Brown: isolate . B e Blue'B
- S + 5-core Switch plug ° JX:A ® Gray:A - Gl/4 ©Gl/4 o i o L
- O13MRHE - ®13 Cable coupler *’“:;ﬂ% Brown:isolate
* SISt - 5-core Switch plug * KA * Gray:A
- ERTTIGIENSIER “d+® / Applicable to TIG manufacturers of current source “d+®” & C-D Bridge C-D

-

L.___. =

«—

GAS

-

#%5k / CONNECTOR

fintdiELL / SWITCH PLUG WIRING

— GAS

ERTFTIGIENSIER “ess®” / Applicable to TIG manufacturers of current source “ess®”

- G1/4 . G1/4 o B e Blue: B %3k / CONNECTOR AnidiEsL / SWITCH PLUG WIRING
- 13RI -+ ®13 Cable coupler o IRIRIE ® Brown: isolate o A o Blue: A
- SiGAiE - 5-core Switch plug ° XA ® Gray: A ’ GH"’ "Gl/4 o k2:C e Brown: C
- SIS - 5-core Switch plug . o Gray: B
- ERTTIGIENSIER “d+* / Applicable to TIG manufacturers of current source “d+*”

ERATFTIGIENSER “ess”” / Applicable to TIG manufacturers of current source “ess””

«— water

«— GAS
«— GAS

-

L PR —_.

E ==== — water

$#3L / CONNECTOR friEiEs / SWITCH PLUG WIRING

EAFTIGENENIER “d+™ / Applicable to TIG manufacturers of current source “d+*”

l UNIVERSAL QUICK CONVERTOR

$#3L / CONNECTOR fiidiEs / SWITCH PLUG WIRING

UNIVERSAL QUICK CONVERTOR l

- G1/4 - G1/4 o A e Blue: A
* PEKREREL * ®6 Quick connector - O13M4E - ®13 Cable coupler o 15:C e Brown:C
- G1/4 - G1/4 ° E:B ° Blue: B - 5 + 5-core Switch plug * JX:B e Gray:B
- SRt - 5-core Switch plug o IR R e Brown: isolate
- O6IKIREIEK « ®6 Quick connector ° XA e Gray: A - EATFTIGIEN SR “ess”” / Applicable to TIG manufacturers of current source “ess””
- QL3R - ®13 Cable coupler




@ UNIVERSAL QUICK CONVERTOR

«— water

5PIN
— GAS

23k / CONNECTOR fiEiEs% / SWITCH PLUG WIRING

«— water

— GAS

B ===s — water

$#3L / CONNECTOR

fEiELL / SWITCH PLUG WIRING

-G3/8 | -G3/8 o B . e Blue:B

- G1/4 . - Gl/4 e iR | e Brown:isolate
-SiMfAfE - 5-core Switch plug ° JX:A - Gray:A

- M12*1 - M12*1 ¥ D-E Bridge DE

- EBATFTIGENEIER “ess”” / Applicable to TIG manufacturers of current source “ess® ”

«— water

5PIN
«— GAS

— water

3L / CONNECTOR ftdsEsk / SWITCH PLUG WIRING

- G3/8 ‘ G3/8 ° 1%:B | e Blue:B
$6l/a. o ocet/a o IX:F#E | e Brown:isolate
- S -+ 5-coreSwitch plug o XA o Gray: A
“M12°1 LML HiE D-E Bridge D-E

- QI3PYE | - d13Cablecoupler

- EBEATFTIGENEIER “ess”” / Applicable to TIG manufacturers of current source “ess” ”

— GAS

L.__.. " = _—.
5% / CONNECTOR iEEEL: | SWITCH PLUG WIRING

- Gl/4 . +Gl/4 ° I5:B i e Blue: B
“OI3RHE - d13Cable coupler e f7:C i eBrown:C
S - 5-core Switch plug o JX:A | e Gray:A

- O6KEEHER | - ®6Quick connector

- G1/4 . - Gl/4 e I%:B e Blue:B

- S AtE - 5-core Switch plug * i5:C * Brown: C
- O6KE L - ®6 Quick connector ° KA ® Gray:A

- O131R4E | - ®13Cable coupler

- BB TFTIGENEER “ewm® / Applicable to TIG manufacturers of current source “ewm®

9

_——

\

|

#£3k / CONNECTOR

9PIN

O]
0]
B
&

finidEiEL / SWITCH PLUG WIRING

- G3/8 . G63/8 ° 1X:2+3 ! eBlue:2+3
g o fR:4+45 | e Brown:4+5
-OWRRANE | - 9 coreflat plug e 89 e Gray8+9

BT TIGENSIER “fronius™ / Applicable to TIG manufacturers of current source “fronius”™

*-_-x. —GAS

\

|

$%k / CONNECTOR

9PIN

O]
0]
B
&

fintdiELk / SWITCH PLUG WIRING

e I%5:5 e Blue: 5
o e 1X:3 e Gray: 3
. GEZB . - +G3/8 e m:g e Black: 9
-OTmRME | - 9coreflat plug o i=:4 e Brown: 4
° 4132 e Red:2

- EATFTIGIENEIER “fronius® Up/Down”

- EBATFTIGENEER “ewm® / Applicable to TIG manufacturers of current source “ewm®”

l UNIVERSAL QUICK CONVERTOR

Applicable to TIG manufacturers of current source “fronius°Up/Down”

UNIVERSAL QUICK CONVERTOR l



UNIVERSAL QUICK CONVERTOR

«— water

9PIN

1
)
>
[0}
»

O]
0]
B
&

$%k / CONNECTOR fniERELL / SWITCH PLUG WIRING

- G3/8 . -G3/8 $5:243 . Blue:2+3
- G3/8 . - G3/8 . !
3/ | F:4+5 Brown: 4 +5
-OBRAUE - 9coreflatplug %:8+9 | Gray:8+9
- G3/8 3 - G3/8 ' 1 v

- BB TFTIGENHIER “fronius®™ / Applicable to TIG manufacturers of current source “fronius””

#%3k / CONNECTOR fntdiELk / SWITCH PLUG WIRING

‘ ° TX:A e Blue: A
. Gi/4 . Gl/4 . o 2:C | e Brown:C
- 5 niE i+ 5-core Switch plug o X'B i e Gray: B

EAFTIGENSER ockle®” / Applicable to TIG manufacturers of current source “jockle®”

g == —GAS

-

— = B
$#3L /| CONNECTOR friEiELL / SWITCH PLUG WIRING

- O6KEBIEL | - D6 Quick connector | Blue: A
- OL3IRIE |+ ®13Cable coupler F'F.C Brown: C
- SIERE .+ 5-core Switch plug x:B ! Gray: B

EATFTIGENSIER ockle®” / Applicable to TIG manufacturers of current source “jockle®”

l UNIVERSAL QUICK CONVERTOR

g === — GAS

*-_-:.
-
$#3L / CONNECTOR finEiELL / SWITCH PLUG WIRING

° 1K1 | e Blue: 1
- O6KFBIESL - P6Quick connector o JR:2 . e Gray:2
- G131R4E - ®13 Cable coupler *®5 - e Black:5
- TS |+ T-core Switch plug ° R4 | e Brown:4
1 e#I:3 | eRed:3

«— water

5PIN

E === — water

#%3k / CONNECTOR finfdiELe / SWITCH PLUG WIRING

: zf/yijg@g;k qGJlGﬁwckconnector o A o Blue: A

- SIRIE + 5-core Switch plug : gg : (Ba:zwnB -

- Q6K BEIEL | + ®6 Quick connector tﬂ% D-E 3 Bridy.e D-E
- O131R4E . - ®13Cable coupler ‘ &

- EATFTIGENEIER “jockle®” / Applicable to TIG manufacturers of current source “jockle®”

UNIVERSAL QUICK CONVERTOR l



